S ¥s

A-372-FS|A-372-RC-FS

A=0l=H| a2=H|

A

2| 24 Alof| ZHES] wH|!

Allows easy replacement if key lost!

NNTEAN e [T H » 22t - unrt

AC-372-FS-3
CE £ |4
Double lock unit
28 52
=3 i
— A-372FS3 A-372:FS3 A-372-2+3H
= HE
Main body AC-372-FS-3 Handle
P
TE HE
7| No.TAK80
B dis Key
amegs  AS372FS3] g 2 R
35 302 135 5 27 Panel drilling dimensions
— ‘ M4 WHH|H2]| LA 2-M4 &
o | ik round screw i tap 2-¢4.1 27
2HxIA ?/ ] T ® Lé
M22 © - |
ALKE| D N ] 8 $22.5
| i i o
EE! o | © 2
Q | % Qo A
. \Q R3.7
| , =2 | (24)
é’ \ : / 3™ 2= 60° Pa:king |
[a) : ‘ Turning angle
=z ! 47.8
< \ Co
v |
v Col
8 || K?I s A-372-2-3-H(2oh) (AC-372-FS-3)
= o / Key handle (option)
7| HE
=N AET
w8 HE Location of key Sto 28
— handle insertion Stopper plate |
A% o) 26.4 27 0
- XK ® —
. /0] > | .
5] 18 ; - X
AETI= 630~635 HOIKIOIA g || & == ¥
AEH AEHSIAA|R, e ‘
2c Select stopper plate on page 630 to 635. LTA |
xOE A No.TAK80
AEHS RoHS H|lz MEZ2(g)| 2=
“rolel Product No. [l Remarks Mass Code
A-372-FS-3 Mai%iglody 131 04555
CiE £ |U(SH
AC372-F53 Double lock unit (same number) 92 04554
A3722:3H K3 h e 50 | 01664
A-372-RC-FS-3-F L J Rug'_tir;%ap 42 04556

@®: RoHS10 tHEE A: RoHS100i tHE 7Hs&Lct

TAKIGEN

226

430




E¥s
2 MIH[0|E oiS

WATERPROOF SEPARATED HANDLE

\ TAK Yo e P
QD&D

% 7 FA A

E% Feature

o OE & RX AC-372-FS-32t T2 A A2
S S ARB0AM &F, siAISHE o 717

o XE2I87t FREH [0 U7 20l S4 24 Alo]
eS| mA|E 4~ USLCH

o A H2|7t FHOFLIC

o olO|A|IF2|E| XF24| TAK80S E&E Z& Cifet 7|
Eol| tiSE 4 USLIC

o &2 ABY(Eo M= 2EE82= ME /0] A&
Ct. A&ZC=E HH0| Sote o USLICH AE6H

FHANR)

© Can be combined with double lock unit AC-372-FS-3 for
safe locking/unlocking with both a key and insertable
handle.

© Lock portion is unit, allowing for easy replacement if
key is lost.

© Excellent for key management.

© TAK80 high-security lock is standard.Accommodates a
variety of key plans.

© For both left-hand and right-hand use (Set to right-
opening at shipment. Can also be shipped arranged for
left-hand use. Consult with TAKIGEN.)

o XA 2=20js HZ(ADC)

Outfitted with AR o 5 OFR2|: A oige =&
rubber cap o |t M T FAl: 2.3mm
A-372-RC-FS-3-F Sl © THIS - st 2 HEt
R FIll » 55 --271= 2003 FAAI2
Rubber cap o Hal= TAK60, TAK70, No.020022=

(A-372-RC-FS-3-F]

HE JEsELC
o OtAH AJAR XY SHE MIZFRiLICE
o2 IE2 REAZOE MBS ALICE
© A-372-FS-32 X=217} = ALt
o= ME2 LIS & R AC-372-FS-32

=i
RN

0 Zoa 78 27 e 4 olaUrt s = 74 AC
- 4\L N —. 372—FS—3_01| 2450 ‘_?vl: M4 LIALS gt
n f— =4 *Eiﬁ*'i fTEfJ LIAF ZEtsof] &t
j N PSS 5
AT FASS) Lorefss gt o 8 ol Bk N2 SR £ T
=2 =2 9X|ZS Q5 B UX|N S =2
2 == main body e amen o
o ¥ | Operation , o 2 HZEES 22l ABSHAIZ| YIsHA H7IHe
= TR 2 SRl 2ENE =26l FEAL.
7‘ T i 7 ® Material: Aluminum alloy (ADC)
0 ‘ Specifi- |J—_ . . .
S ‘ T ® Finish: Sll\{er metallic cogtmg
N 0\/ © Max. applicable panel thickness: 2.3mm
% K © Cubicles, power/distribution panels
Lo W:, SERESS @ Key can be changed to TAK60, TAK70, or
76* No.0200.
® Diagram shows right-hand use.
44 32 ® A-372-FS-3 s specification without lock.
© This product can later be combined with lock
unit AC-372-FS-3. When combining, be sure
to use the M4 screw included with lock unit
R g AC-372-FS-3. Also be sure to waterproof area
Rearrangement method around screw.
© During installation, it is recommended
£0f JHA M4 LIME FI75H & | that ‘thread-locking fluid" be used when
Cio| ZZS M7 AC-372-FS-38 &8 installing the M22 nut to prevent loosening.
Remove M4 screw from door Install lock unit AC-372-FS-3 «To prolong the life of the product, apply a
back and remove dummy cap regular coating of lubricant to the sliding
parts.

cio| 2
Dummy cap

2 Qul AC-372-FS-32 BaE ZR0= AC-372-FS-
-FS-3, be sure to use the M4 screw included with AC-372-FS-3.

¥ When installing lock unit AC-372

£ 4 AC-372-FS-3

Lock unit

B£9| M4 LIAIS HIEA] ARSSHYAIR.

A

NNTEAN [T H » STk« min et

LOCK HANDLES

2}0]0]

TAKIGEN

226

431




